ANLSIVIYT

5
v
=
y
1
%

EA829ER-3

EA829ER-4

EA829ER-5

EA829ER-6

EA829ER-8

EA829ER-10

EA829ER-12

HESRR A

Spiral Fluted Taps

b (4

Type A & ® Type D 5 ° Bfimm
= 2 4| —l ke '—@/ *imj% ]jL —-vm'—@*\/ Jﬁ‘ . 1[ —l ke %@C/
L 5
A— ML U (Metric Thread) BAEH(JPY)

m ;P | Uﬂ 5 L e L]e]d M’;M oh [ K [ || & @
M2x0.4 HS020E A HA1 40 11 3 - - 25 5 3 2,050
M2.3%0.4 HS023E A H1 42 11 3 - - 25 5 3 2,050
M2.5%0.45 HS025F A H1 44 13 3 - - 25 5 3 2,050
M2.6%X0.45 HS026F A H1 44 13 3 - - 2.5 5 3 1,880
3Mx0.6 (IHJIS) HS030H A H2 | 46 18 4 - - 3.2 6 3 1,480
M3x0.5 HS030G A H2 | 46 18 4 - - 3.2 6 3 1,480
M3x0.35 HS030D A H1 46 11 4 - - 3.2 6 3 2,230
M3.5%X0.6 HS035H A H2 | 48 18 4 - - 3.2 6 3 1,620
4Mx0.75(IBJIS) HS040J B H2 52 13 5] 20 a3 4 7 3 1,410
M4x0.7 HS040I B H2 | 52 13 5| 20 3.2 4 7 3 1,410
M4x0.5 HS040G B H2 | 52 13 5| 20 3.3 4 7 3 1,980
M4.5X0.75 HS045J B H2 | 55 13 5| 20 3.6 4 7 3 1,900
5Mx0.9(IHJIS) HS050L B H2 | 60 16 55| 23 |4.05| 45 7 3 1,450
M5x0.8 HS050K B H2 | 60 16 551 24 |405| 45 7 3 1,450
M5x%0.5 HS050G B H2 | 52 16 551 24 42| 45 7 3 1,950
M6x%x1.0 HS060M B H2 | 61 19 6| 27 48| 45 7 3 1,560
M6X%0.75 HS060J B H2 | 61 19 6| 27 |4.85] 4.5 Fi 3 2,070
M7x%x1.0 HS070M B H2 | 65 19 6.2 | 28 5.7 5 8 3 2,020
M8x1.25 HSO080N D H2 | 70 22 6.2 | 30 59 5 8 3 2,260
M8x%1.0 HS080M D H2 | 70 20 6.2 | 28 59 5 8 3 2,640
M8X0.75 HS080J D H2 | 62 19 6.2 | 27 5.9 5 8 3 3,070
M9x1.25 HS090N D H2 | 72 22 71 30 6.7 | 55 8 3 2,830
M10x1.5 HS1000 D H2 | 75 24 7| 34 6.7 | 55 8 3 2,860
M10x1.25 HS100N D H2 | 75 24 71 34 6.7 55 8 3 2,860
M10x1.0 HS100M D H2 | 70 20 71 28 6.7 | 55 8 3 3,490
M10x0.75 HS100J D H2 | 62 19 T1 27 6.7 55 8 3 4,050
M12x1.75 HS120P D H2 | 82 29 85| 4 82| 65 9 3 3,990
M12x1.5 HS1200 D H2 | 82 29 85| 39 82| 6.5 9 3 3,990
M12x1.25 HS120N D H2 | 80 29 85| 39 82| 65 9 3 3,990
M12x1.0 HS120M D H2 | 70 20 85| 28 82| 6.5 9 3 4,720
M14x%x2.0 HS140Q D H2 | 88 30 |10.5| 44 | 101 81 11 3 5,460
M14x1.5 HS1400 D H2 | 88 30 |10.5] 44 | 101 8| 11 3 5,460
M14x1.25 HS140N D H2 88 30 |10.5] 44 | 101 8 11 3 6,000
M14x1.0 HS140M D H2 | 70 22 |10.5] 30 | 101 8| 11 3 6,560
M16x2.0 HS160Q D H2 95 32 |125| 47 | 121 10 13 3 7,240
M16X1.5 HS1600 D H2 | 95 32 |125 ]| 47 | 121 10 | 13 3 7,240
M16x1.0 HS160M D H2 | 75 24 |125] 32 | 121 )] 10 | 13 3 8,580
M18x2.5 HS180R D H3 | 100 a7 14| 52 | 13.5] 11 14 3 9,960
M18x2.0 HS180Q D H3 | 95 37 14| 52 | 135 11 14 3 10,770
M18x1.5 HS1800 D H2 | 95 37 14| 52 | 135 11 14 3 9,960
M18x1.0 HS180M D H2 | 80 24 14| 34 | 135 11 14 3 12,250
M20x2.5 HS200R D H3 | 105 37 15| 54 |145]| 12 | 15 3 12,920
M20x2.0 HS200Q D H3 | 95 37 15| 52 | 145] 12 | 15 3 15,580
M20X%X1.5 HS2000 D H3 95 37 15| 52 | 145 12 15 3 12,920
M20x%1.0 HS200M D H2 | 80 24 15| 34 | 145)] 12 | 15 3 15,580
M22x2.5 HS200R D H3 |115 38 17| 55 | 165 13 | 16 4 16,640

REH HEW | ATVLA| &
| HRC25~35 | HRC35~40 =lE FC



esco
テキスト ボックス
EA829ER-3


esco
テキスト ボックス
EA829ER-4


esco
テキスト ボックス
EA829ER-5


esco
テキスト ボックス
EA829ER-6


esco
テキスト ボックス
EA829ER-8


esco
テキスト ボックス
EA829ER-10


esco
テキスト ボックス
EA829ER-12



